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1) KEE =4 —IT X 2GR ERSE H

ptow R
A 4 5 6 7 8 9 10 | 11| 12 1 2 3 | &S| RIK| Y
il H
B <) o<1 o< o< o< o< o< o< o< o<l o«al o«
& BB |KIE| < <] <] o<« ol o< o< <) << o< o<afoap o« o«
Eryloo<a| o <) o< < <) <) <] <] <] <) <o«
| <0.1| <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
¥ () | FAK| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1|<0.1|<0.1|<0.1
SER[<0.1) <€0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1
- Her| 0.73) 0.70| 0.65) 0.61| 0.61| 0.80| 0.77| 0.71| 0.65| 0.63] 0.61| 0.65
;b;; % i %(mg/L) B[ 0.59| 0.57| 0.36| 0.38| 0.44| 0.44| 0.70| 0.64| 0.58| 0.57| 0.52| 0.51[0.80|0.36/0.61
S| 0.66| 0.62| 0.56| 0.55| 0.52| 0.64| 0.72| 0.67| 0.61] 0.61| 0.57| 0.57
WO R
o A 4 5 6 7 8 9 10 | 11| 12 1 2 3 || AR | Yy
Fem| o< o< o< o< o< o< o< o< o< o<« o«al o«
&) EOE) | BAE| <) <) <) <) <) <) <) <] < << <<l <o«
Ery|loo<a| o< < o< <) <) <) <) < < o<l o«
Ber| <0.1) <0.1) <0.1] <0.1) <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <€0.1] <0.1
) BEO(BE) | HI&| <0.1] <0.1] <0.1| <0.1| <0.1| <€0.1| €0.1| <0.1| <0.1] <0.1| <0.1] <0.1[<0.1|<0.1|<0.1
S| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] €0.1| €0.1] <0.1] <0.1| <0.1| <0.1
- | 0.70] 0.67| 0.67| 0.70| 0.69| 0.65| 0.70| 0.73] 0.73| 0.77| 0.63| 0.76
% % ;gé(mg/L) B[ 0.55| 0.59| 0.50| 0.47| 0.60| 0.57| 0.59| 0.68] 0.58| 0.56| 0.55| 0.55[0.77|0.47|0.65
SEH4] 0.66] 0.62| 0.61| 0.64| 0.64| 0.63] 0.66| 0.70| 0.65| 0.72| 0.57| 0.67
WE H R
i 5 A 4 5 6 7 8 9 10 | 11 | 12 1 2 3| B | AR | Y
Fem| o< <) o< o< o< o< o<a] < ap <l o«
@ EOE) Rl ) <) gl o< o<ap o<ap o«af o« < <ol o< o«al o«
Eryloo<a| o <) < < <) <) <« ap <l o«
ferh| <0.1) <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 <0.1| <0.1| <0.1
bt BE(BE) | #I&| <0.1] <0.1] <0.1| <€0.1| <0.1| <0.1| <0.1] <0.1 <0.1| <0.1| €0.1]<0.1|<0.1[<0.1
SR <0.1| <0.1| <0.1| <0.1| <0.1] <€0.1] <0.1] <0.1 <0.1| <0.1| <0.1
- HerE| 0.82) 0.80| 0.80| 0.78] 0.79| 0.78| 0.78| 0.79] 0.81] 0.75| 0.77| 0.74
;’g 2 i g(mg/m A 0.76) 0.73| 0.60| 0.62| 0.59| 0.34| 0.70| 0.72| 0.65| 0.65| 0.61| 0.62[0.82|0.34|0.70
SEE[ 0.79] 0.76] 0.71| 0.67| 0.68| 0.56| 0.73| 0.76| 0.76| 0.70| 0.68| 0.66
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I R
ﬂ = =
4 5 6 7 8 9 10 | 11 | 12 1 2 3 | | | T
H OH
gEl o<l o« < o<«al o<« o< o<l o«al o<l o<« o«al o«
5, B (&Kl < <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 al <« <) «
Sl <] <1 <) <) < o< o< o<« < o<l <] o«
el <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| €0.1| <0.1| <0.1| <0.1] <0.1| <0.1
i B (BE) | Hd%] <0.1] <0.1] €0.1| <0.1| <0.1| <0.1| €0.1| <0.1| <0.1| <0.1] <0.1| <0.1]<0.1|<0.1{<0.1
SEF| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1
gl 0.74] 0.67| 0.64| 0.64] 0.63] 0.66| 0.77| 0.80| 0.74| 0.71| 0.62| 0.68
;‘if 2 i r;f(mg/L) FA%| 0.59| 0.53] 0.52| 0.43] 0.38| 0.51| 0.58| 0.62| 0.63| 0.62| 0.53| 0.49[0.80|0.38/0.62
S| 0.65 0.60| 0.59| 0.57| 0.54| 0.58| 0.74| 0.68| 0.67| 0.68] 0.56| 0.58
mE bR
; 5 A 4 5 6 7 8 9 10 | 11 | 12 1 2 3| R | AR | T
el oal o<« <y o« o<« o<« o< o<l o« o<« o< o«
£, EO(E) (&K <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 af <« < o«
STl o<1 <) o< < o<« o<l o< o<« o<« <] <] o«
e <0.1] <0.1] €0.1| <0.1| <0.1| <0.1| €0.1| <0.1| <0.1| <0.1] €0.1| <0.1
b B () | HAE| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1[<0.1[<0.1[<0.1
SE| <0. 1] <0.1| <0.1| <0.1] <0.1] €0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1
el 0.79] 0.69) 0.66] 0.76] 0.73| 0.69| 0.80| 0.80| 0.77| 0.75| 0.72| 0.69
g 2 <mg/L> A& | 0.67| 0.64| 0.57| 0.55| 0.61| 0.60| 0.67| 0.71| 0.66| 0.62| 0.60| 0.53[0.80|0.530.68
SEE| 0.74] 0.66| 0.62| 0.68| 0.65| 0.65| 0.76] 0.75| 0.71| 0.69| 0.66| 0.58
KEE=F —HELT
4 g ok R OB ®OE Y%A
T MUOEAE 1 TH =eiaREN
R M R BrshkE 2 EE)175K 5 % WHE1TEH EHARN
gt &R JUIENET 1 T H  PEIEBGE KEHERTN
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2)) FhR 7K S ARG AKAR K

P i K R AR KK (2D 1)

A
T 4 5 6 7 8 9
— o eAll & (CFU/ml) 0 0 0 0 0 0
X iz L) - - - - - -
| <0.001]  <0.001| <0.001| <0.001| <0.001| <0.001
Kk O F o b A& M (mg/L) |&ME[ <0.001] <0.001| <0.001| <0.001| <0.001 <0.001
SR <0.001]  <0.001|  <0.001| <0.001| <0.001| <0.001
BE <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
% kK O = o ( & ¥ g/l) KK <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
S8 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
| <0.001]  <0.001| <0.001| <0.001| <0.001| <0.001
<~ v v kN E O AW (mg/L) | I&] <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SER[ <0.001]  <0.001|  <0.001| <0.001| <0.001| <0.001
BE 13.3 12.0 10.3 12.8 15.3 10. 3
s e 47| A 2 v (mg/L) | Fcf 12.6 10. 4 10.0 9.8 14.3 9.6
S8 13.0 11.2 10. 2 11.3 14.8 10.0
e 0.4 0.4 0.5 0.6 0.6 0.5
H 1 W (TOC)  (mg/L) | ff& 0.4 0.3 0.4 0.5 0.6 0.5
Sy 0.4 0.4 0.4 0.6 0.6 0.5
BE 7.57 7.58 7. 60 7.63 7.65 7.62
pH & 53N 7.55 7.53 7.50 7.48 7. 46 7.59
RS 7.56 7.56 7.55 7.56 7.56 7. 60
IS B U B U B | Bl | B U | BieL
= B U Ry U | Bl | Bl | By | BERL
BE <0.5 0.5 <0.5 0.5 <0.5 0.5
() | RK 0.5 0.5 0.5 0.5 0.5 0.5
NS <0.5 0.5 <0.5 0.5 <0.5 0.5
BE <0. 01 0.01 0.01 0.02 0. 02 0.01
¥ EO(E) (KK <0. 01 0.01 <0. 01 0. 01 0. 01 0. 01
) <0. 01 0.01 <0.01 0.01 0.01 <0. 01
E’% 54 0.79 0.76 0.76 0.76 0.78 0.82
= 1 i3 % 4 H # (mg/L) | I 0.74 0.74 0.75 0. 62 0. 65 0.78
H SEA 0.76 0.75 0.76 0. 69 0.72 0.80
o B 0.82 0. 80 0.81 0. 80 0.83 0.85
w7 = i} F (mg/L) | HfX 0.79 0.79 0. 80 0.70 0.75 0. 82
ﬁ R3] 0. 80 0. 80 0. 80 0.75 0.79 0.84
A Mm% (KMno, W OB & ) (mg/L) 0.6 0.3 0.5 0.8 0.4 <0.3
] 19.3 21.4 24. 8 31.1 30. 2 26. 0
7K B (C) KK 16.9 18.8 23.6 29.9 30.0 25.2
) 18. 1 20. 1 24. 2 30.5 30. 1 25. 6
4] 32.2 31.2 32.0 37.0 35. 2 34.5
7 I 71 D E (mg/L) | Ff 32.0 31.2 31.9 30. 2 32.6 32.1
- ) 32.1 31.2 32.0 33.6 33.9 33.3
73 £ (mg/L) 1.8 1.7 1.5 1.8 1.0 1.6
T [ Te = # (mg/L) 0.83 0.79 0. 70 0. 37 0. 86 0.74
f [ 3 A 7 > (mg/L) 18.6 17.0 16.3 16.8 21.2 17.9
B vy Al (mg/L) 29 28 26 26 25 25
~ J x ¥ y s @ E (mg/L) 8 7 7 8 8 7
S5 16. 2 15.2 14.7 17. 1 18.2 15.5
g E= B 15 i o (mS/m) | F i 16.0 14.4 14.5 14. 1 17.3 14.7
S 16. 1 14.8 14.6 15.6 17.8 15. 1
% 17 73 # (mg/L) 10. 4 8.8 8.0 7.0 6.7 7.0
B & 0.015 0.014 0.018 0.017 0.024| 0.018
4% P48 Fns W it B K 0. 009 0.013 0.014 0.012 0.019 0.017
S 0.012 0.014 0.016 0.014 0. 022 0.018
2 H K oo~ v F v W E (mg/L) 0.010 0.017 0.028 0. 030 0. 035 0. 026
W % B& OEE (o ) (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
7 ) 7 b A2 K U ¥ U A UEA0L 0 0
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10 11 12 1 2 3 [E1Ex 5ac AR St
0 0 0 0 0 0 24 0 0 0
— — — — — — 24 — — —
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0. 03 <0.03| <0.03] <0.03] <0.03] <0.03
<0. 03 <0.03|  <0.03 <0.03|  <0.03|  <0.03 24| <0.03| <0.03|  <0.03
<0. 03 <0.03|  <0.03 <0.03|  <0.03|  <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
14.2 17.2 17.2 17.2 17.7 16.9
9.9 15.1 16. 2 16.2 17.6 13.7 24 17.7 9.6 13.7
12.0 16. 2 16.7 16.7 17.6 15.3
0.6 0.7 0.7 0.7 0.8 0.8
0.4 0.6 0.6 0.7 0.7 0.7 24 0.8 0.3 0.6
0.5 0.6 0.6 0.7 0.8 0.8
7.62 7.57 7.56 7.56 7.59 7.58
7.56 7.54 7.51 7.46 7.53 7.56 24 7.65 7.46 7.56
7.59 7.56 7.54 7.51 7.56 7.57
BERU|RERU| B L\ BER LU RERLU|RERL 24 S L
B U BEARLU|BERU | BER L BEARL | BELL 24 HEeEal
0.5 <0.5 0.5 <0.5 <0.5 <0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5 24 0.5 0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5
<0. 01 0.01 0.02 0. 02 0.01 0. 02
<0. 01 0.01 <0. 01 0.01 <0. 01 <0.01 24 0.02|  <0.01 <0.01
<0.01 0.01 0.01 0.02|  <0.01 0.01
0. 80 0.74 0.73 0. 80 0.77 0.76
0. 62 0.73 0.73 0.72 0. 74 0.74 24 0.82 0. 62 0. 74
0.71 0.74 0.73 0.76 0.76 0.75
0.85 0.79 0.78 0.85 0.83 0.81
0. 66 0.78 0.77 0. 77 0. 80 0. 80 24 0.85 0. 66 0.79
0.76 0.78 0.78 0. 81 0. 82 0. 80
0.4 0.9 0.5 0.9 0.7 0.9 24 0.9 0.3 0.6
24.0 19.0 16.2 11.3 11.6 14. 1
21.8 17.1 13.0 10.2 10. 4 12.3 24 31. 1 10. 2 19.9
22.9 18.0 14.6 10.8 11.0 13.2
37.9 36. 6 37. 4 36.5 35.5 36. 4
33.8 36. 6 36. 2 35.2 35.2 31.7 24 37.9 30. 2 34.2
35. 8 36. 6 36. 8 35.8 35. 4 34.0
1.4 1.8 1.9 2.7 2.1 1.3 12 2.7 1.0 1.7
0. 68 1.28 1.33 1.35 1.28 1.28 12 1.4 0.4 1.0
16.8 21.6 22.5 19.3 21.9 19.5 12 22.5 16.3 19. 1
26 30 31 33 31 28 12 33 25 28
8 9 9 9 9 8 12 9 7 8
18.0 19.3 19.4 18.6 18.7 18.8
14.6 18.1 18.7 17.8 16.2 16.2 24 19.4 14.1 16.8
16.3 18.7 19.0 18.2 17.4 17.5
7.1 8.9 9.5 11.6 11.5 10. 6 12 11.6 6.7 8.9
0.022| 0.027| 0.025] 0.025] 0.022| 0.027
0.017| 0.018  0.023] 0.023] 0.022| 0.022 24| 0.027|  0.009]  0.019
0.020|  0.022| 0.024] 0.024| 0.022| 0.024
0.037| 0.046/ 0.053] 0.030] 0.036| 0.045 12| 0.053] 0.010| 0.033
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001] <0.001
0 0 4 0 0 0
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PR K S R ka ke (20 2)
4 5 6 7 8 9

HH
BRI ALK REZEORE W (ng/l) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
K B K O F o A& ¥ (ng/L) <0. 00005/ <0. 00005 <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005
£t L v kE X ZF O A& W (mg/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
vt F K O F o & A& W (mg/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
N ofli 7 o owm A b A& ¥ (mg/L) <0.005| <0.005| <0.005| <0.005 <0.005| <0.005
il i 73 e 2= %= <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
ST Ul A A RO ALY 7 v (ng/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
HMEREE R K O F M MEEEE (ng/L) 0.83 0.79 0.70 0.37 0. 86 0.74
7 v #H kK O E o b A W (ng/l) 0.08 0. 09 <0.08 0.10 0.09 0. 09
AU FE KO E 0 AW (mg/l) 0.1 0.1 0.1 0.1 0.1 <0. 1
I i;q: e fra # (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — Y F F ¥ v (mg/l) <0.005| <0.005| <0.005| <0.005| <0.005 <0.005
2 f/if;‘gf;;j:;; %9 (mg/L) €0.004| <0.004| <0.004| <0.004| <0.004  <0.004

®|Y 7 =t o R & > (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
> F 9 / v um = F L v (ng/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
U 7 B v = F L > (ng/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001

e N + > (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001

% i e & (mg/L) <0. 06 0. 06 0. 09 0.07 0.08 0.11
v o = HE % (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002/ <0.002
7 = = N JL 2 (mg/L) <0.001| <0.001 0. 002 0. 002 0. 002 0. 002

i ¥ Vi o = Hile Bz (mg/L) <0.003| <0.003| <0.003| <0.003| <0.003| <0.003
Y 7 v x® 7 v ua A % v (ng/L) 0. 002 0. 002 0.003 0. 002 0. 005 0. 002
B # % (mg/L) 0.001 0. 002 0.001 0.003 0.001 0. 001
w0 o~ v A 2 v (mg/L) 0.003 0. 004 0. 008 0. 006 0.013 0. 006

H Tk D] Vi = 2 FE ® (mg/L) <0.003| <0.003| <0.003| <0.003| <0.003| <0.003
7 m £ Y 7 v onrn A X v (ng/L) 0.001 0. 002 0.003 0. 002 0. 004 0. 002
7 = B 7 JL 2 (mg/L) <0.001| <0.001| <0.001| <0.001 0.002| <0.001
X v A 7 A F b K (mg/L) <0.008| <0.008| <0.008| <0.008| <0.008 <0.008
wo & T o b A W (ng/l) 0.1 <0.1 0.1 <0.1 0.1 0.1
TN =0 AKEOZOEY (ng/L) 0. 02 0. 02 0.02 0.02 0.03 0.02
Wk = o b A W (mg/L) 0.1 <0.1 0.1 <0.1 0. 1 <0.1
F bV U AR OZEDOEYW (mg/l) 13.9 12.5 12.7 11.3 17. 1 14.5
AT LT3y N (EE) (ng/L) 37 35 33 34 33 32
53 ¥ 5k e Y (mg/L) 101 116 89 89 100 102
b2 4 4 v Fom & M Al (mg/L) 0. 02 <0. 02 <0. 02 <0. 02 <0.02 0. 02
2 - %+ 2 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F A A VKA X F — 1 (ng/L) <1 <1 <1 <1 <1 <1
E A4 A& v K m & M Al (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005 <0.005
7 - J — JL ¥H (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 <0.0005
7T TF R DRYE O E W (mg/L) <0. 002 <0. 002
v o k™ E AL AW (mg/l) <0. 0002 <0. 0002
=y g kKR EZE O AEY g/ <0. 002 <0. 002
L2- ¥ 7 v n = % » (mg/L) <0. 0004 <0. 0004
k JL S > (mg/L) <0. 04 <0. 04

Eloaxrmy G- F o ~F% 1) (ng/l) <0. 008 <0. 008

A [ i % W (mg/L) <0. 06 <0. 06

EH 7 an 7 % k=F U (gl <0.001 <0.001

ok 7 v 5  — 1 (mg/L) <0. 002 <0. 002

AaxX i e, ¥

B = P $H <1 <1

g |3 i R % (mg/L) 1.6 1.5 1.3 1.6 0.9 1.4

Bl,,1- v Y 7 v r = &% ¥ (mg/lL) <0.03 0. 03
A F N —-t-F F )= —F L MIBE) (mg/L) <0. 002 <0. 002
R = G Jii3 (TON) 1 1 1 1 1 1
Z N ) 7 B -1.4 -1.4 -1.3 -1.4 -1.2 -1.3
s B % 1% il (CFU/m1) 2 1
L1 — ¥ 7 v v x F L v (mg/l) <0.01 0. 01
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10 11 12 1 2 3 [Eipq 54 A i)
<0.0003] <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003] <0.0003| <0.0003
<0. 00005/ <0. 00005| <0. 00005 | <0. 00005| <0. 00005 | <0. 00005 12/ €0. 00005 <0. 00005| <0. 00005
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12|  <0.001| <0.001| <0.001
0. 68 1.28 1.33 1.35 1.28 1.28 12 1.35 0.37 0.96
0.09 0.09 0.09 0.08 0.09]  <0.08 12 0.10]  <0.08 0. 08
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002| <0.0002
<0.005| <0.005| <0.005| <0.005/ <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12|  <0.004| <0.004| <0.004
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12|  <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12|  <0.001| <0.001| <0.001
0.06|  <0.06 0.07| <0.06] <0.06| <0.06 12 0.11 <0.06|  <0.06
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
0.004| <0.001| 0.001| <0.001| <0.001| <0.001 12| 0.004| <0.001| 0.001
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12|  <0.003| <0.003| <0.003
0.004| 0.003] 0.005/ 0.002] 0.002] 0.003 12| 0.005] 0.002] 0.003
0.003|  0.003] 0.004] 0.003] 0.003] 0.002 12| 0.004] 0.001|  0.002
0.013|  0.007| 0.012] 0.004] 0.004| 0.006 12| 0.013] 0.003] 0.007
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12|  <0.003| <0.003| <0.003
0.005/ 0.002| 0.003] 0.001] 0.002] 0.002 12| 0.005/ 0.001] 0.002
<0.001|  0.002] 0.003 0.001| <0.001| 0.001 12| 0.003| <0.001| <0.001
<0.008| <0.008| <0.008| <0.008| <0.008| <0.008 12| <0.008| <0.008| <0.008
<0. 1 <0.1 <0. 1 <0.1 <0.1 <0.1 12 <0. 1 <0.1 <0. 1
0. 02 0.02 0. 02 0.01 0.02 0.02 12 0.03 0.01 0. 02
<0. 1 0.1 <0. 1 0.1 <0.1 <0.1 12 0.1 <0.1 0.1
13.0 16.9 18.7 15.0 17.7 14.9 12 18.7 11.3 14.9
34 39 40 42 40 36 12 42 32 36
83 107 100 98 105 93 12 116 83 99
<0.02| <0.02] <0.02| <0.02| <0.02|  <0.02 12| <0.02] <0.02|  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005| <0.005| <0.005| <0.005 <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.0005| <0.0005 <0.0005| <0.0005| <0.0005 <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4] <0.002| <0.002] <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4] <0.04] <0.04| <0.04
<0. 008 <0. 008 4] <0.008| <0.008| <0.008
<0. 06 <0. 06 4| <0.06] <0.06/ <0.06
<0. 001 <0. 001 4] <0.001| <0.001| <0.001
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
<1 <1 4 <1 <1 <1
1.2 1.6 1.7 2.4 1.8 1.1 12 2.4 0.9 1.5
<0. 03 <0.03 4] <0.03]  <0.03]  <0.03
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
1 1 1 1 1 1 12 1 1 1
-1.2 -1.3 -1.3 -1.5 -1.4 -1.5 12| -1.2 -1.5 -1.4
0 0 4 2 0 1
<0. 01 <0.01 4| <0.01| <o0.01 <0. 01
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PRl R S R fe KiK. (2D 3) SR

- /] 5 7 10 2 % | Rm | RE | T
1,3—y7un7ua~Xy(D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X Z7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
E P N (mg/L) | <0.00005| <0.00005| <0.00005/ <0.00005 4| <0.00005| <0.00005| <0.00005
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T R = 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T * 7 Ed — ~ (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <€0.0008| <0.0008| <0.0008
7 k 7 2 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = = UiN Z (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
T N b = X (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T = 7 = — L (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y % ¥ F A v (mg/L)| <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
A4 Y 7 = v A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4Y 7ma )7 (MIPC) (mg/L)| <0.0001 <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV FaF A7 (IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
A4 7ma XK A(IBP) (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 2 J 7 X ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
- X 7 wvu B 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 47 RA (YT =2 ARA, EDDP) (mg/L) [ <0.00006| <0.00006| <0.00006( <0.00006 4| <0.00006| <0.00006| <0.00006
T N7 = v 7 u vy 7 A (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
IR T Y — (=7 r) — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R V) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <€0.0001| <0.0001| <0.0001
A X% ¥ Y 7 o A AR v (mg/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X v 8 (H 8 ) (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
Z+ U ¥ A Kk v B ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 z - MiN Z (mg/L) | <0.000006| <0.000006| <0. 000006/ <0. 000006 4| <0. 000006 <0.000006| <0. 000006
B 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 % v > 7 (mg/L)

B N Y g (N A C ) (ng/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
B 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
7 JU IR 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
% & 7 v v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 N JL = > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 A = K (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o & ¥ X — b (mg/L) <0.0002|  <0.0002| <0.0002|  <0.0002 <0.0002| <0.0002|  <0.0002
7 wm A 7 ua v 7 (mg/L) <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
)= 7= (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 m Jb B U A& A (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
o #Znr=)L (TPN) (mg/lL) <0.0005|  <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v T > Y > (mg/L) | <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Yy ey (DCMU) (mL <0.0002| <0.0002| <0.0002| <0.0002 4 <€0.0002| <0.0002| <0.0002
vZ7u~X=,)(DBN) (mL) <0.0003| <0.0003| <0.0003| <0.0003 4| <€0.0003| <0.0003| <0.0003
Zua LR A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
DA 7 bz 4 F (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZVRR L (= F L FF AR ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
CF A H NN A— R (ng/L)

¥ S * = L (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o ma AR v 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v < v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
DA I S U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
T X k = — I (mg/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v A b ) v (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
X q T > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
ZI Ay b, AL (I—/N10) (ng/L)

RURAFAA Y FHYT 5= b
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A

HE 5 7 10 2 [EE- B HAK RE4)
i 7 % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ 74 7 A (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F 4 ¥ B b 7 (mg/L)| <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A 7 7 F — b A F L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
-+ ~N v B v 7 (mg/L) | <0.0002|  <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 U o kU F v (mg/l)

FTINTHNT (MBPMC) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
k ) 7 = B )L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FUZ7wa k> (DEP) (mg/L)| <0.0002] <0.0002] <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
kU Y 7 T — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Uz Z U v (mg/l) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
7+ 7 = /N = R (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 5 o — R~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~2 =] N 2 (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
| =S 7 = = b (mg/L)

v 7 Y X 3 7 = » (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —k (S L —]R) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U ¥ 7 = v F F » (mg/L)| <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
vy 7 F H L 7 (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =] ES =] > (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 7 & = L (mg/L) | <0.000005| <0. 000005 <0.000005| <0. 000005 4| <0. 000005 | <0.000005| <0. 000005
Jrx=taF A+ (MEP) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7)) 77 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
= E ) N ' v (mg/L)

7 v F F 2 (MP P) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z hx —FK(PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b T H I K (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 7 o — JL (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 Z g N Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 x ¥ v (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 ) 7 ¥ F A (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 L F 5 Z v — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A o Yy = F > (mg/L) | <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 m  F  F K A (ng/L)

7 v ¥ = F Y — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] =4 A < K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 o N JF Y — L (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 ma ' 7 F F (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J N JL (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~N v 7w v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Y v ¥/ m v (mg/L)| <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N T g A2 U v (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
N v 7 Z H b 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Ry (R2aYr) (mg/L) | <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A2 F 7 £ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F A v (~F Y ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AaFuay 7 (MCPP) (mg/L)| <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005| <0.0005
A Y g JL (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A i v X D4 JL (mg/L) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
AF X F F > (DMTP) (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X A4 A v v (mg/L)| <0.0003] <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A I /2 A b v Vv (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
A ~ ) - D > (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = + ¥ v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
A v o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
ES ) 3 — I (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
J- 3 34K 5 (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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3) BrRAFAGEAZEM SRR KRG KRR
A6\ 7 B NSV

A
S 4 5 6 7 8 9
— ihd m (CFU/m1) 0 0 0 0 0 0
K iz - - - - - -
| <0.001]  <0.001| <0.001| <0.001| <0.001| <0.001
W Ok O F o b & W (ng/L) |#IE] <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
S| <0.001|  <0.001|  <0.001| <0.001| <0.001| <0.001
B <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
% &k O £ o b A& # (g/l) | HIK <0.03 <0. 03 0. 03 <0. 03 <0. 03 <0. 03
S <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
Fml <0.001)  <0.001]  <0.001| <0.001 0.001| <0.001
~ AU kR OEDOEY  (ng/L) || <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SEFJ| <0.001]  <0.001|  <0.001| <0.001| <0.001| <0.001
53] 13.8 12.9 13.8 13.4 15.8 10. 6
w1t 7| A 7 v (mg/L) | K 11.6 9.4 10. 1 7.0 9.6 8.4
S 13.1 11.5 12.0 10.5 14. 0 9.9
B 0.9 0.7 0.6 0.7 0.9 0.7
H G52 ) (toc)  (mg/L) | Fl& 0.7 0.6 0.4 0.5 0.8 0.6
RS 0.8 0.7 0.5 0.6 0.8 0.7
53] 7.65 7.68 7.67 7. 74 7.63 7.70
pH i b3 159 7.52 7.52 7.49 7.49 7.46 7.45
S 7.57 7.57 7.55 7.57 7.53 7.53
IR B U | B U | BERU | BEARL|BAEARL | BRERL
e B U | BER U | BER U RERLU|RERL|BEARL
B 0.5 0.5 0.5 0.5 <0.5 0.5
i (B8) | fdik 0.5 <0.5 0.5 <0.5 0.5 <0.5
5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
53] 0. 02 0. 02 0. 02 0.01 0. 05 0.01
VE) iz (BE) | &IK <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01
S 0.01 0.01 <0. 01 <0. 01 0.03 <0. 01
’é% 4] 0.78 0.82 0. 82 0.79 0.83 0.81
w E OB & OB M R (mg/l) EdX 0. 58 0. 60 0. 62 0.70 0. 50 0.61
S 0.72 0.73 0.74 0.76 0.71 0. 74
i 53] 0.84 0. 86 0. 86 0. 87 0. 89 0. 86
w7 = b= % (mg/l) | &K 0. 64 0. 66 0. 70 0.73 0. 59 0. 69
o sz 0.78 0.78 0. 80 0. 82 0. 77 0. 80
BlE B m % Ko, W & B ) (mg/L) 1.2 0.9 0.5 0.8 1.0 0.5
53] 20. 1 21.6 25. 6 31.6 31.9 27.6
7K I (C) | i 15.3 19.5 23.9 25.8 28.8 24.5
sz 17.3 20. 4 24.5 28.6 30. 6 26.0
54 32.6 32.2 33.2 29. 8 29. 2 29. 7
7 I i) ) B (mg/L) | I 28.0 27.0 29.8 22.2 26. 4 23.8
- ) 31.2 30. 1 31.4 27.6 27.6 27.0
[ & (mg/L) 1.8 1.5 1.5 1.5 1.0 1.1
fii i3 15 %= #  (mg/L) 0.87 0.96 0. 62 0.34 0.81 0.72
s | i3 A 7 v (mg/L) 18. 1 17.6 15.8 18.8 27.7 23.7
B v v A i (mg/L) 29 30 26 27 27 27
~ 7 3 ¥ w A @@ E  (ng/L) 8 8 7 8 9 7
R 16.3 15.8 16.6 17.4 19.2 15.5
H 7 0 = i # mS/m) | Bl 15.2 13.4 14.3 12.7 14.1 13.3
) 15.9 14.8 15. 4 14.9 17.6 14.4
% 17 [ #  (mg/L) 11.4 9.0 9.1 8.1 7.7 8.3
B K& 0. 032 0. 028 0. 020 0. 021 0. 034 0. 040
E ST S S S| fE 5215y 0. 025 0. 026 0.011 0.016 0. 027 0. 021
S 0. 029 0. 027 0.017 0.019 0. 030 0. 028
L H o~ v 5 v o E (ng/l) 0. 033 0. 036 0. 021 0. 056 0. 062 0. 052
WY WO (B ) (mg/L) <0.001| <0.001| <0.001] <0.001| <0.001 <0.001
7 U 7 h AR U v A (fH/200) 0 0
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10 11 12 1 2 3 [E1Ex e gl NS
0 0 0 0 0 0 48 0 0 0
— — — — — — 48 — — —
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 48| <€0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0.03 <0. 03 <0. 03 <0. 03 <0.03 <0. 03 48 <0. 03 <0. 03 <0. 03
<0. 03 <0.03 <0. 03 <0. 03 <0. 03 <0. 03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 48 0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
14.8 17.5 17.6 17. 4 18.5 17. 4
6.5 15.2 17.2 16.3 17.4 11.5 48 18.5 6.5 13.9
11.1 16. 4 17. 4 17.0 18.0 15. 6
0.8 0.9 0.9 0.9 1.0 1.0
0.6 0.8 0.9 0.8 0.8 0.9 48 1.0 0.4 0.8
0.7 0.8 0.9 0.9 0.9 1.0
7.67 7.60 7.61 7.57 7.59 7.59
7.54 7.51 7.53 7.55 7.52 7.54 48 7. 74 7.45 7.56
7.57 7.55 7.56 7.56 7.56 7.56
BEQU|BERLU| B0 | BERLU|BEARAL|BAERL 24 HEle L
BERU| BERU | B2 U | BER LU B L | ARl 24 B
0.5 <0.5 0.5 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 <0.5 48 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5
<0. 01 0. 02 0.01 0.01 0.01 <0. 01
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 48 0. 05 <0. 01 <0. 01
<0. 01 0.01 <0. 01 <0.01 <0. 01 <0. 01
0. 82 0. 80 0.79 0.81 0.79 0.78
0. 64 0.57 0. 60 0.63 0. 66 0. 60 48 0.83 0.50 0.70
0.76 0.73 0.74 0.75 0.73 0. 70
0.88 0. 87 0. 87 0.88 0.84 0. 82
0. 69 0. 66 0. 68 0. 69 0.71 0. 65 48 0. 89 0. 59 0.79
0.82 0.80 0.80 0. 82 0.79 0.75
0.4 1.2 1.1 1.2 1.0 1.2 48 1.2 0.4 0.9
25.5 19.2 16.0 12.3 11. 4 14. 6
20. 2 15. 0 11.6 8.8 9.4 11.7 48 31.9 8.8 19.5
22.8 17.8 13.8 10.0 10.3 12.6
37.0 37.2 36. 6 34.3 34.5 35.2
22.2 33.9 34.8 33.6 33.2 27.7 48 37.2 22.2 31.3
30. 4 35.2 35. 7 33.9 33.7 32.2
1.6 1.3 1.9 1.8 2.1 1.4 12 2.1 1.0 1.5
0.72 1.23 1.26 1.34 1. 20 1. 09 12 1.34 0.34 0.93
17.0 21.1 22.8 19.3 21.8 18.8 12 27.7 15.8 20. 2
26 30 31 32 31 26 12 32 26 29
8 9 9 9 9 7 12 9 7 8
17.7 19.4 19. 0 18.5 18.7 18.9
12.3 17.6 18.7 17. 4 18.2 14.8 48 19. 4 12.3 16. 6
15.1 18.5 18.9 18.0 18.6 17.6
8.3 10. 3 10.9 12.8 13.3 12.1 12 13.3 7.7 10. 1
0.035]  0.035 0.037|  0.037 0.035]  0.038
0.025|  0.030| 0.018/  0.033 0.030|  0.035 48 0.040|  0.011 0. 029
0.028|  0.032 0. 031 0.034|  0.033]  0.037
0.046|  0.067 0. 081 0. 063 0.058|  0.059 12| 0.081 0. 021 0. 053
<0.001| <0.001| <0.001] <0.001 0. 001 0. 001 12 0.001| <0.001| <0.001
0 0 4 0 0 0
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3) B)iffﬁbka_m%l JEVISRE € ¥ Y/ VI
i 4 7K 3 R kAR R 7K
A

SH 4 5 6 7 8 9
BRI ARV ZEDOIEY (ng/l) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KR Kk O F 0 b A& B (ng/L) <0. 00005/ 0. 00005 | <0. 00005| <0. 00005| <0. 00005 | <0. 00005
v L v EOZE O E W (g/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
t &K O FE O LA W (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001 <0.001
AN ofli 7 v A b A ¥ (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005 <0.005
il i e B %= #&  (mg/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
ST e A A v ROy T > (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
HAEREEEROHFEMEERZEE (ng/L) 0. 87 0. 96 0. 62 0. 34 0.81 0.72
7 v Z KO ZE 0 E W (mg/l) <0. 08 <0. 08 0.10 0. 09 0. 08 <0. 08
K E KR E OIS YW (ng/L) 0.1 <0.1 0.1 <0.1 0.1 0.1
Py HE {1t R #  (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — ¥ 4+ F ¥ (mg/l) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
fé /1;_1‘;7;1;; j IV; Zf? (ng/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
v 7 v v A % ¥ (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002

(5 r 5 7 mmxF L (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
kU 7 oo x F L v (mgl) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
~ NZ £ v (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001

R # e (mg/L) <0. 06 0.10 0.08 0. 07 0. 09 0. 07
7 = = e g (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
7 = = A v A (mg/L) 0. 003 0. 005 0. 002 0. 006 0. 006 0. 005

- ¥ 7 = = Bt B (mg/L) <0.003| <0.003| <0.003| <0.003 0. 004 0. 005

~lY 7 v w7 v o £ % v (ng/l) 0. 003 0. 005 0. 002 0. 003 0. 006 0. 004
B * g (mg/L) <0. 001 0. 001 0. 002 0. 003 0.004| <0.001
WO U oo~ om X % v (mg/L) 0. 009 0.017 0. 006 0.014 0. 020 0.014

Blr v 2 v v @m # (ng/L) <0.003| <0.003| <0.003| <0.003| <0.003| <0.003
7o ® Y/ v A # v (ng/l) 0. 003 0. 007 0. 002 0. 005 0. 007 0. 005
7 = = A A (mg/L) <0.001| <0.001| <0.001| <0.001 0.001| <0.001
A v A 7 v F B R (ng/L) <0.008| <0.008| <0.008| <0.008| <0.008| <0.008
m o kE X F o b & % (meg/l) <0. 1 0. 1 0. 1 0. 1 0.1 <0. 1
TAI=TARERZEOAEY (ng/L) 0.02 0.03 0.03 0. 04 0. 06 0.02
i Kk O F o b A& W (mg/L) 0.1 <0. 1 0.1 <0. 1 0.1 <0. 1
TRV ARV ZEDOREY (g/L) 14. 0 13.3 11.7 11.3 16.6 12.9

N S e _e

?7””/ ?6{; "7 E%/ v J*%j‘ (mg/L) 37 38 33 35 36 34
3 S 7% eo Y (mg/L) 89 84 93 86 105 94
& A4 F v fom oiE P A (ng/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
v - % 2 2 v (ng/L) <1 <1 <1 <1 <1 <1
- A F A4 VAR F A — 1 (ng/l) <1 <1 <1 <1 <1 <1
kA A v 5'% woE M Al (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
7 = J — o (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 <0.0005
TUoFEUVRMOZEOIEY (ng/l) <0. 002 <0. 002
7 7 v kY E O AW (ng/l) <0. 0002 <0. 0002
=y " kO ZEOAAEY (ng/l) <0. 002 <0. 002
,2- ¥ 7 v uv == % > (mg/L) <0. 0004 <0. 0004
~ L - v (mg/L) <0. 04 <0. 04

w72y C-=F A ~F ) (ng/L) <0. 008 <0. 008

B H#Hi # s (mg/L) <0. 06 <0. 06

HIDZ7 e e 7% F=F U 4 g/l <0. 001 <0. 001

g Bk 7 v Z — 2 (ng/L) 0. 003 <0. 002

& J=-! B3 bS] <1 <1

TH |ifF il PR i (mg/L) 1.6 1.3 1.3 1.3 0.9 1.0
L,1- VU 7 o o= % > (ng/l) <0. 03 <0. 03
AF)—t-7 F )L —F ) (MIBE) (mg/L) <0. 002 <0. 002
R = GEA B (TON) 1 1 1 1 1 1
Z v U T R K -1.4 -1.2 -1.4 -1.3 -1.3 -1.2
e B % &M (CFU/ml) 9 0
L1 — Y7 vue=xF L v (ngl) 0. 01 <0.01
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10 11 12 1 2 3 [EIEq b5 d] gl NS
<0. 0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0. 00005/ <0. 00005 | <0. 00005| <0. 00005| <0. 00005 | <0. 00005 12| <0. 00005| <0. 00005 <0. 00005
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.005| <0.005| <0.005| <0.005 <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0.72 1.23 1.26 1. 34 1.2 1.09 12 1.34 0.34 0.93
0.08 0.08 0.08 0. 09 0.09 <0. 08 12 0.10 <0. 08 <0. 08
<0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002 <0.0002 12| <0.0002| <0.0002| <0.0002
<0.005| <0.005| <0.005| <0.005/ <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001 12|  <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0. 06 0. 06 <0. 06 0. 06 <0. 06 <0. 06 12 0.10 <0. 06 <0. 06
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
0.005|  0.002 0.002|  0.003 0.002|  0.002 12 0.006|  0.002 0. 004
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| 0.005 <0.003| <0.003
0.004|  0.005 0.006|  0.005 0.002|  0.003 12 0.006|  0.002 0. 004
0.002|  0.002 0.001| <0.001| <0.001 0. 001 12 0.004| <0.001 0. 001
0.014|  0.013 0.014|  0.013 0.006|  0.008 12 0.020|  0.006 0.012
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| <0.003| <0.003| <0.003
0.005/  0.004|  0.004| 0.004| 0.002] 0.002 12 0.007|  0.002 0. 004
<0. 001 0. 002 0.002|  0.001| <0.001 0. 001 12 0.002| <0.001| <0.001
<0.008| <0.008| <0.008| <0.008| <0.008| <0.008 12| <0.008| <0.008| <0.008
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
0.03 0.03 0.03 0. 02 0.02 0. 02 12 0. 06 0.02 0.03
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
11.7 16. 0 17.8 14.6 16.8 12.4 12 17.8 11.3 14.1
34 39 40 41 40 33 12 41 33 37
97 100 101 109 111 91 12 111 84 97
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4] <0.002| <0.002| <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4] <0.002| <0.002| <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 <0.04|  <0.04
<0. 008 <0. 008 4| <0.008| <0.008| <0.008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4| <0.001| <0.001| <0.001
0. 002 <0. 002 4| 0.003 <0.002| <0.002
<1 <1 4 <1 <1 <1
1.4 1.1 1.7 1.6 1.8 1.2 12 1.8 0.9 1.4
<0. 03 <0. 03 4/ <0.03 <0. 03 <0. 03
<0. 002 <0. 002 4] <0.002| <0.002| <0.002
1 1 1 1 1 1 12 1 1 1
-1.4 -1.3 -1.3 -1.4 -1.4 -1.6 12| -1.2 -1.6 -1.4
0 0 4 2 0 1
<0. 01 <0. 01 4 <0. 01 <0. 01 <0. 01




JelRE Kk ke Ak iz K (2D 3) BEIRE

- /] 5 7 10 2 % | Rm | RE | T
1,3—y7un7ua~Xy(D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X Z7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
E P N (mg/L) | <0.00005| <0.00005| <0.00005/ <0.00005 4| <0.00005| <0.00005| <0.00005
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T R = 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T * 7 Ed — ~ (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <€0.0008| <0.0008| <0.0008
7 k 7 2 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = = UiN Z (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
T N b = X (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T = 7 = — L (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y % ¥ F A v (mg/L)| <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
A4 Y 7 = v A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4Y 7ma )7 (MIPC) (mg/L)| <0.0001 <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV FaF A7 (IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
A4 7ma XK A(IBP) (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 2 J 7 X ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
- X 7 wvu B 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 47 RA (YT =2 ARA, EDDP) (mg/L) [ <0.00006| <0.00006| <0.00006( <0.00006 4| <0.00006| <0.00006| <0.00006
T N7 = v 7 u vy 7 A (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
IR T Y — (=7 r) — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R V) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <€0.0001| <0.0001| <0.0001
A X% ¥ Y 7 o A AR v (mg/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X v 8 (H 8 ) (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
Z+ U ¥ A Kk v B ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 z - MiN Z (mg/L) | <0.000006| <0.000006| <0. 000006/ <0. 000006 4| <0. 000006 <0.000006| <0. 000006
B 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 % v > 7 (mg/L)

B N Y g (N A C ) (ng/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
B 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
7 JU IR 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
% & 7 v v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 N JL = > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 A = K (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o & ¥ X — b (mg/L) <0.0002|  <0.0002| <0.0002|  <0.0002 <0.0002| <0.0002|  <0.0002
7 wm A 7 ua v 7 (mg/L) <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
)= 7= (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 m Jb B U A& A (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
o #Znr=)L (TPN) (mg/lL) <0.0005|  <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v T > Y > (mg/L) | <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Yy ey (DCMU) (mL <0.0002| <0.0002| <0.0002| <0.0002 4 <€0.0002| <0.0002| <0.0002
vZ7u~X=,)(DBN) (mL) <0.0003| <0.0003| <0.0003| <0.0003 4| <€0.0003| <0.0003| <0.0003
Zua LR A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
DA 7 bz 4 F (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZVRR L (= F L FF AR ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
CF A H NN A— R (ng/L)

¥ S * = L (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o ma AR v 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v < v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
DA I S U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
T X k = — I (mg/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v A b ) v (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
X q T > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
ZI Ay b, AL (I—/N10) (ng/L)

RURAFAA Y FHYT 5= b
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A

HE 5 7 10 2 [EE- B HAK RE4)
i 7 % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ 74 7 A (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F 4 ¥ B b 7 (mg/L)| <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A 7 7 F — b A F L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
-+ ~N v B v 7 (mg/L) | <0.0002|  <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 U o kU F v (mg/l)

FTINTHNT (MBPMC) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
k ) 7 = B )L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FUZ7wa k> (DEP) (mg/L)| <0.0002] <0.0002] <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
kU Y 7 T — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Uz Z U v (mg/l) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
7+ 7 = /N = R (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 5 o — R~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~2 =] N 2 (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
| =S 7 = = b (mg/L)

v 7 Y X 3 7 = » (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —k (S L —]R) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U ¥ 7 = v F F » (mg/L)| <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
vy 7 F H L 7 (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =] ES =] > (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 7 & = L (mg/L) | <0.000005| <0. 000005 <0.000005| <0. 000005 4| <0. 000005 | <0.000005| <0. 000005
Jrx=taF A+ (MEP) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7)) 77 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
= E ) N ' v (mg/L)

7 v F F 2 (MP P) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z hx —FK(PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b T H I K (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 7 o — JL (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 Z g N Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 x ¥ v (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 ) 7 ¥ F A (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 L F 5 Z v — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A o Yy = F > (mg/L) | <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 m  F  F K A (ng/L)

7 v ¥ = F Y — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] =4 A < K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 o N JF Y — L (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 ma ' 7 F F (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J N JL (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~N v 7w v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Y v ¥/ m v (mg/L)| <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N T g A2 U v (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
N v 7 Z H b 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Ry (R2aYr) (mg/L) | <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A2 F 7 £ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F A v (~F Y ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AaFuay 7 (MCPP) (mg/L)| <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005| <0.0005
A Y g JL (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A i v X D4 JL (mg/L) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
AF X F F > (DMTP) (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X A4 A v v (mg/L)| <0.0003] <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A I /2 A b v Vv (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
A ~ ) - D > (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = + ¥ v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
A v o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
ES ) 3 — I (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
J- 3 34K 5 (mg/L) <1 <1 <1 <1 4 <1 <1 <1

81




4) FfokIE AR M FEA 1K G R G KRR K

S e A A SE R FE 4 kS e kie K (Zd 1)
A
HH 4 5 6 7 8 9
— iy # (CFU/m1) 0 0 0 0 0 0
K iz B - - = = = =
54 0. 002 0. 002 0. 002 0. 002 0. 006 0. 005
w & O F o b & W (ng/L)|HZIE[ <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
| <0.001]  <0.001| <0.001| <0.001 0.001| <0.001
5q <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
% &k O = o b & ¥ (ng/l)|xIK <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
Ty <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
| <0.001]  <0.001 0. 002 0. 001 0.002| <0.001
~ v H RN EDOIE W (ng/L) | &H&ME[ <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
| <0.001]  <0.001| <0.001| <0.001 0.001| <0.001
i 14.0 12.8 14. 1 13.6 16.0 11.4
# b W A 7 v (mg/L) | HAK 10.6 8.9 10. 4 7.0 9.4 7.9
R 12.8 10.8 13.0 10. 0 13.4 9.2
54 0.9 0.8 0.9 0.9 1.1 0.8
el & Y] (Ttoc)  (mg/L) | fci&& 0.5 0.4 0.4 0.5 0.7 0.6
1) 0.8 0.6 0.7 0.6 0.9 0.7
Wi 7.59 7.60 7.58 7.61 7.58 7.62
pH & AR 7. 54 7.53 7. 54 7.53 7.50 7.53
RS 7.56 7.56 7.56 7.56 7.54 7.58
IS Bwp U By U By | By U Bl | Byl
= = B U\ B U | B U | BEa L | B U | Byl
54 <0.5 <0.5 <0.5 <0.5 0.5 <0.5
& iy (B) | & <0.5 <0.5 0.5 <0.5 0.5 0.5
¥ <0.5 0.5 0.5 0.5 0.5 0.5
i 0. 02 0. 04 0.07 0.02 0. 06 0.03
) Ji:3 (B) | Hf% <0.01 0. 01 <0.01 <0. 01 0.01 <0. 01
1) 0.01 0. 02 0. 02 <0. 01 0.02 0. 01
§3 54 0.78 0.79 0.75 0. 74 0.72 0.75
= [ OBE & ¥ O F O (mg/)|mIE 0. 54 0.59 0.37 0.38 0.12 0.41
A ST 0.66 0.68 0. 60 0. 60 0.48 0.61
" i 0. 84 0.84 0.83 0.79 0.77 0. 80
v |% # # # (ng/L) | K 0. 60 0. 67 0. 43 0. 46 0.18 0. 47
% RS 0.73 0.73 0. 66 0. 65 0.54 0. 67
DA B % (Ko, W O® B ) (ng/L) 0.6 0.9 0.5 0.8 1.3 0.5
BE 19.5 21.3 24.7 32.1 32.5 29. 2
7K = (C) | &i& 15.2 18.6 22.2 24.3 28.0 23.8
RS] 16.6 20. 1 23.5 27. 4 30. 1 26. 8
5 q] 33.3 31.6 34.0 34.0 34.9 31.7
7 JV Vi U & (mg/L) | Fi& 26. 6 26. 4 30. 4 22.6 26. 8 24.6
o ) 30. 8 28.9 32.7 28. 7 30.0 28. 1
[ & (ng/L) 1.6 1.5 1.5 1.8 1.2 1.4
fird i3 fe = #  (mg/L) 0.85 0.75 0.63 0. 36 0. 82 0. 86
fe | 73 A a > (mg/L) 18.9 16. 6 16. 1 18.3 26. 2 19.7
hoov ¥ v A (mg/L) 29 26 26 27 28 25
~ J X ¥ v A f# E  (ng/L) 8 7 7 8 8 7
i 16. 4 15.7 17.1 18.1 19.2 15.5
e B = i R (mS/m) | BB 14.5 13.2 14.5 13.3 14.0 13.1
) 15.8 14.4 16.0 14.9 17.2 14.5
s 17 [ %  (mg/L) 10.5 10. 2 8.8 7.6 6.8 7.8
H i 0. 037 0.038 0.032 0. 025 0.089 0. 032
- S - S S EE 3l 0.015 0.015 0.014 0.018 0. 025 0. 021
) 0.028 0. 027 0. 025 0. 023 0. 040 0. 027
L H o~ g A v g (ng/l) 0. 028 0. 036 0. 029 0. 062 0. 065 0. 051
WOt W o (@R pE ) (mg/L) <0.001| <0.001| <0.001| <0.001] <0.001| <0.001
7 U 7 kb AR U ¥ v A (fH/200) 0 0
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10 11 12 1 2 3 EIEx' i AR S
0 0 0 0 0 0 96 0 0 0
— — — — — — 96 — — —
0.003]  0.003]  0.001 0. 001 0.001 0. 001
<0.001| <0.001| <0.001| <0.001] <0.001| <0.001 96|  0.006| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0. 03 <0.03]  0.04 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 96 0.04|  <0.03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0.03 <0. 03
0.002| <0.001| <0.001]| <0.001| <0.001 0. 001
<0.001| <0.001| <0.001| <0.001] <0.001| <0.001 96|  0.002| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
14. 4 17.3 17.6 17.6 20. 3 17. 4
7.4 15. 7 15.9 16. 7 17.5 11. 4 96 20. 3 7.0 13.7
10. 6 16. 4 17.1 17.2 18.6 15.9
0.8 1.0 0.9 0.9 1.0 1.0
0.5 0.7 0.7 0.7 0.6 0.8 96 1.1 0.4 0.8
0.7 0.8 0.8 0.8 0.8 0.9
7.65 7.59 7. 64 7.59 7.59 7.58
7.53 7.53 7.52 7.52 7.53 7.55 96 7.65 7.50 7.56
7.58 7.57 7.57 7.56 7.56 7.57
BE U | B U B U | B U | BRERL| BEkL 24 HERL
B U B U BEa U B U Bl | BEaL 24 Bl
0.5 0.5 0.5 <0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 <0.5 96 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5
0.05 0. 02 0.01 0. 02 0. 02 0. 02
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0.01 96 0.07|  <0.01 <0. 01
0.01 0.01 <0. 01 <0. 01 <0. 01 <0. 01
0.78 0.78 0.75 0.75 0.78 0.75
0.43 0. 54 0. 47 0. 60 0.49 0.59 96 0.79 0.12 0. 63
0. 66 0. 64 0.63 0. 68 0.65 0. 68
0.82 0.82 0.82 0.82 0. 84 0.79
0. 49 0. 61 0.55 0. 69 0. 57 0. 67 96 0. 84 0.18 0. 69
0.72 0.71 0.70 0.76 0.72 0. 74
0.8 1.5 0.8 1.2 1.0 0.9 96 1.5 0.5 0.9
23.5 21.1 17.5 11.9 11. 4 13.9
22.5 17.3 12.2 8.4 9.3 11.7 96 32.5 8.4 19.5
23.0 18.7 14.2 10. 6 10. 7 12.6
36. 2 38.2 38. 6 35.2 36. 4 35.5
23.8 35.2 34,2 33.4 33.6 27.5 96 38.6 22.6 32.2
30. 8 36. 8 36. 7 34.6 34.9 33.2
1.6 1.5 1.7 2.2 2.1 1.5 12 2.2 1.2 1.6
0. 69 1.31 1.26 1.33 1. 20 1.05 12 1.33 0. 36 0.93
17.0 21.7 22.9 19. 8 21.7 20. 4 12 26. 2 16. 1 19.9
26 32 32 31 31 26 12 32 25 28
8 9 9 9 9 7 12 9 7 8
17.9 19.3 19.3 18.6 19.8 18.7
12.9 18.1 18.3 18.0 18.1 15. 2 96 19.8 12.9 16. 7
15. 2 18.8 18.9 18.3 18.8 18.0
7.9 9.7 10.5 12. 4 13. 1 11.5 12 13.1 6.8 9.7
0.033]  0.037] 0.037| 0.044| 0.036]  0.038
0.018|  0.024| 0.017| 0.026| 0.027|  0.030 96| 0.089|  0.014]  0.030
0.025|  0.031 0.029|  0.035 0.034|  0.036
0.044|  0.080] 0.076] 0.064| 0.054] 0.066 12|  0.080] 0.028) 0.055
<0.001| <0.001| <0.001] <0.001 0. 001 0. 001 12| 0.001] <0.001| <0.001
0 0 4 0 0 0
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4) BfokIa AN FEA 1K G R G KRR K

A K GE A SE R 4L ) ll%%7kiaffu7k$£7k ZD1)
g 4 5 6 7 8 9
HREITLAERZDAEY (mg/L) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KB K O F O b A W (mg/L) <0. 00005 | <0. 00005| <0. 00005| <0. 00005 | <0. 00005 | <0. 00005
*t v v kN E OIS Y (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
E # &K O F O A& W (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
N ofti 7 v A b & ¥ (mg/L) <0.005| <0.005| <0.005| <0.005 <0.005/ <0.005
il fiF§ [ [ S # (mg/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
ST A Ay RO YT v (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
MBEEREOCHEMBEEE (ng/l) 0.85 0.75 0.63 0.36 0.82 0. 86
7 v 2K O ZF 0 E W (ng/L) 0.09 <0. 08 0. 09 0.10 0. 08 0. 09
AU F R OZTOMNEW (ng/l) 0.1 0.1 0.1 0.1 0.1 0.1
] 7 1t 17 % (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — ¥ 4 F ¥ v (ng/L) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
{;—/1,7\271’;&;;;3 i”;’i“ﬁ (mg/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
Y s o om o w X & v (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002

25 V5 7 aa = F v > (ngl) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
Y 7 moro x F L > (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
~ N + > (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001

% M = % (mg/L) <0. 06 0.07 0.07 <0. 06 <0. 06 <0. 06
7 =t =i HE % (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
7 = = MR s A (mg/L) 0. 002 0. 004 0. 003 0. 007 0. 009 0. 004
¥ 7 = = B B (mg/L) <0.003| <0.003| <0.003 0.004| <0.003 0. 004

Mo 7 0 = 7 m o A &% > (ng/L) 0. 004 0. 003 0. 003 0. 005 0. 009 0. 005
B B % (mg/L) <0. 001 0. 001 0. 002 0. 002 0.004| <0.001
wmor U N m A& v (mg/L) 0.010 0.011 0. 009 0. 020 0. 030 0.015

gl U 7 v w @ (mg/L) <0.003| <0.003| <0.003| <0.003 <0.003| <0.003
7 m E Y 7 v u A X 2 (ng/l) 0. 003 0. 004 0. 003 0. 007 0.010 0. 005
7 =t = A 4 A (mg/L) 0.001| <0.001| <0.001 0. 001 0. 002 0. 001
A v A 7 A F b F (mg/L) <0.008| <0.008| <0.008| <0.008 <0.008| <0.008
W kO F o b A& W (mg/l) 0.1 <0. 1 0.1 <0. 1 0.1 0.1
TNI=2 AR OZONEY (ng/l) 0. 02 0.03 0.03 0.04 0.05 0.02
il Kk O F o & A W (ng/L) 0. 1 0.1 0. 1 0.1 0. 1 0.1
FT RV TAKERZEDONEY (mg/l) 14.3 10.7 11.8 11.7 17.6 14.7
AN T TR T N5 (EHE)  (ng/L) 37 33 33 35 36 32
7% 7% V53 e ¥ (mg/L) 101 86 85 82 106 106
b2 4 A v B om & M Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
2 - 7 2 2 v (ng/L) <1 1 <1 1 <1 <1
2- A F N A VAL R A — I (ng/l) <1 <1 <1 <1 <1 <1
A A v omEIE A (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
7 - J — 2 fE  (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
T FEUCREROZONEW (ng/L) <0. 002 <0. 002
7 7 v kO O AE W (ng/l) <0. 0002 <0. 0002
= XNk X0 EY (mg/L) <0. 002 <0. 002
L,2- ¥ 7 v v = & > (mg/L) <0. 0004 <0. 0004
~ JL - v (mg/L) <0. 04 <0. 04

Elza gy @zFr~F ) (ng/L) <0. 008 <0. 008

g i # % (mg/L) <0. 06 <0. 06

Eﬁ 7 umnu 7k kF=hFU L (mgl) <0. 001 <0. 001

EE ok v w5 — 1 (mg/L) <0. 002 0.003

= 3 # <1 <1

17 [ Bt 74 % (mg/L) 1.4 1.3 1.3 1.6 1.0 1.2

B|,1,1- h U 7 v o x % > (mg/l) <0. 03 <0. 03
AF)-t-F F L x—5 )L MBE) (mg/L) <0. 002 <0. 002
B = G i3 (TON) 1 1 1 1 1 1
7 v U 7T ot O -1.4 -1.4 -1.4 -1.3 -1.2 -1.3
s = 5 x i (CFU/m1) 0 0
L1l — Y 7 ve=xF Ly (ng/l) €0.01 <0.01
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10 11 12 1 2 3 [EIE=q b d AKX S
<0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0. 00005| <0. 00005 <0. 00005 | <0. 00005| <0. 00005| <0. 00005 12| <0. 00005 <0. 00005| <0. 00005
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001 12]  <0.001| <0.001| <0.001
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001 12)  <0.001| <0.001| <0.001
<0.005| <0.005| <0.005| <0.005 <0.005| <0.005 12]  <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004 <0.004 12]  <0.004| <0.004| <0.004
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001 12]  <0.001| <0.001| <0.001
0.69 1.31 1. 26 1. 33 1. 20 1. 05 12 1. 33 0. 36 0.93
0. 10 0. 09 0. 09 0. 08 0. 10 <0. 08 12 0.10 <0. 08 <0. 08
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002| <0.0002
<0.005| <0.005| <0.005| <0.005 <0.005| <0.005 12]  <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12]  <0.002| <0.002| <0.002
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001 12]  <0.001| <0.001| <0.001
<0.001| <0.001| <0.001] <0.001| <0.001] <0.001 12]  <0.001| <0.001| <0.001
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001 12]  <0.001| <0.001| <0.001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0.07 <0. 06 <0. 06
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12] <0.002| <0.002| <0.002
0.004 0.004 0. 004 0.003 0.002 0.003 12 0. 009 0. 002 0. 004
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| 0.004 <0.003| <0.003
0.003 0. 007 0. 008 0. 005 0.002 0.004 12 0. 009 0. 002 0. 005
0.002| <0.001| <0.001| <0.001| <0.001| <0.001 12 0.004| <0.001| <0.001
0.011 0.020 0.021 0.013 0. 007 0.011 12 0. 030 0. 007 0. 015
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12]  <0.003| <0.003| <0.003
0.004 0. 006 0. 006 0.004 0.003 0.004 12 0.010 0. 003 0. 005
<0. 001 0. 003 0. 003 0.001| <0.001| <0.001 12 0.003| <0.001 0. 001
<0.008| <0.008| <0.008| <0.008| <0.008| <0.008 12]  <0.008| <0.008| <0.008
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
0.03 0.02 0.03 0.02 0.02 0.02 12 0. 05 0.02 0.03
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
12.2 17.1 18.3 15.7 16. 8 13.1 12 18.3 10.7 14.5
34 41 41 40 40 k3 12 41 87 36
85 102 104 93 103 99 12 106 82 96
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005| <0.005| <0.005| <0.005 <0.005| <0.005 12]  <0.005| <0.005| <0.005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4| <0.008| <0.008| <0.008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4| <0.001| <0.001] <0.001
<0. 002 <0. 002 4 0.003| <0.002| <0.002
<1 <1 4 <1 <1 <1
1.4 1.3 1.5 1.9 1.8 1.3 12 1.9 1.0 1.4
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 002 <0. 002 4| <0.002| <0.002| <0.002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.2 -1.2 -1.4 -1.4 -1.6 12 -1.2 -1.6 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0.01 <0.01 <0.01
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Pt A AR SE] FEA ) ARG Rfa AR (£ 3) K

- /] 5 7 10 2 % | Rm | RE | T
1,3—y7un7ua~Xy(D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X Z7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
E P N (mg/L) | <0.00005| <0.00005| <0.00005/ <0.00005 4| <0.00005| <0.00005| <0.00005
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T R = 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T * 7 Ed — ~ (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <€0.0008| <0.0008| <0.0008
7 k 7 2 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = = UiN Z (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
T N b = X (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T = 7 = — L (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y % ¥ F A v (mg/L)| <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
A4 Y 7 = v A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4Y 7ma )7 (MIPC) (mg/L)| <0.0001 <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV FaF A7 (IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
A4 7ma XK A(IBP) (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 2 J 7 X ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
- X 7 wvu B 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 47 RA (YT =2 ARA, EDDP) (mg/L) [ <0.00006| <0.00006| <0.00006( <0.00006 4| <0.00006| <0.00006| <0.00006
T N7 = v 7 u vy 7 A (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
IR T Y — (=7 r) — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R V) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <€0.0001| <0.0001| <0.0001
A X% ¥ Y 7 o A AR v (mg/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X v 8 (H 8 ) (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
Z+ U ¥ A Kk v B ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 z - MiN Z (mg/L) | <0.000006| <0.000006| <0. 000006/ <0. 000006 4| <0. 000006 <0.000006| <0. 000006
B 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 % v > 7 (mg/L)

B N Y g (N A C ) (ng/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
B 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
7 JU IR 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
% & 7 v v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 N JL = > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 A = K (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o & ¥ X — b (mg/L) <0.0002|  <0.0002| <0.0002|  <0.0002 <0.0002| <0.0002|  <0.0002
7 wm A 7 ua v 7 (mg/L) <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
)= 7= (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 m Jb B U A& A (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
o #Znr=)L (TPN) (mg/lL) <0.0005|  <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v T > Y > (mg/L) | <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Yy ey (DCMU) (mL <0.0002| <0.0002| <0.0002| <0.0002 4 <€0.0002| <0.0002| <0.0002
vZ7u~X=,)(DBN) (mL) <0.0003| <0.0003| <0.0003| <0.0003 4| <€0.0003| <0.0003| <0.0003
Zua LR A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
DA 7 bz 4 F (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZVRR L (= F L FF AR ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
CF A H NN A— R (ng/L)

¥ S * = L (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o ma AR v 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v < v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
DA I S U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
T X k = — I (mg/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v A b ) v (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
X q T > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
ﬁ‘/ifyh f&A‘(wfﬂb) (ng/L)
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A

HE 5 7 10 2 [EE- B HAK RE4)
i 7 % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ 74 7 A (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F 4 ¥ B b 7 (mg/L)| <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A 7 7 F — b A F L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
-+ ~N v B v 7 (mg/L) | <0.0002|  <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 U o kU F v (mg/l)

FTINTHNT (MBPMC) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
k ) 7 = B )L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FUZ7wa k> (DEP) (mg/L)| <0.0002] <0.0002] <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
kU Y 7 T — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Uz Z U v (mg/l) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
7+ 7 = /N = R (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 5 o — R~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~2 =] N 2 (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
| =S 7 = = b (mg/L)

v 7 Y X 3 7 = » (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —k (S L —]R) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U ¥ 7 = v F F » (mg/L)| <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
vy 7 F H L 7 (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =] ES =] > (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 7 & = L (mg/L) | <0.000005| <0. 000005 <0.000005| <0. 000005 4| <0. 000005 | <0.000005| <0. 000005
Jrx=taF A+ (MEP) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7)) 77 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
= E ) N ' v (mg/L)

7 v F F 2 (MP P) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z hx —FK(PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b T H I K (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 7 o — JL (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 Z g N Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 x ¥ v (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 ) 7 ¥ F A (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 L F 5 Z v — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A o Yy = F > (mg/L) | <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 m  F  F K A (ng/L)

7 v ¥ = F Y — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] =4 A < K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 o N JF Y — L (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 ma ' 7 F F (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J N JL (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~N v 7w v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Y v ¥/ m v (mg/L)| <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N T g A2 U v (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
N v 7 Z H b 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Ry (R2aYr) (mg/L) | <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A2 F 7 £ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F A v (~F Y ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AaFuay 7 (MCPP) (mg/L)| <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005| <0.0005
A Y g JL (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A i v X D4 JL (mg/L) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
AF X F F > (DMTP) (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X A4 A v v (mg/L)| <0.0003] <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A I /2 A b v Vv (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
A ~ ) - D > (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = + ¥ v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
A v o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
ES ) 3 — I (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
J- 3 34K 5 (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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5) BFRIAR L T BRKEIKIRIK (oAt s #1110k 57 B O SRR G SrR 4 1 G B RSB IR EnfAk A)
PR TERAKEK (D 1)

A

AR 4 5 6 7 8 9
— ihe b (CFU/m1) 0 0 0 0 0 0

X ¥ = = = = = =
| <0.001)  <0.001|  <0.001| <0.001| <0.001| <0.001
®w & O F o b A W (ng/L) | H&EE| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SEHg| <0.001]  <0.001|  <0.001| <0.001| <0.001| <0.001
b5 4=t <0.03|  <0.03] <0.03] <0.03] <0.03|  <0.03
g &k O o b A& B (g/l)| K <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
SEH) <0.03|  <0.03| <0.03] <0.03| <0.03|  <0.03
| <0.001  <0.001|  <0.001| <0.001 0.001] <0.001
~ TR OE0AAEY Mmg/l)|ikE| <0.001| <0.001] <0.001| <0.001| <0.001| <0.001
JEH| 0 <0.001]  <0.001|  <0.001| <0.001| <0.001| <0.001
54t 14.1 11.5 10.9 13.6 15.9 11.4
#H il L7 A % v (mg/L) | i 13.5 10. 1 10.5 10. 7 15.2 10. 7
RS 13.8 10. 8 10. 7 12.2 15. 6 11.0
B 0.8 0.8 0.8 0.9 1.0 0.9
H 1 W (ToC)  (mg/L) | il 0.8 0.7 0.8 0.8 1.0 0.8
) 0.8 0.8 0.8 0.8 1.0 0.8
541 7.54 7.53 7.57 7.52 7.54 7.55
pH il el 7.53 7.51 7.52 7.49 7.50 7.47
S 7.54 7.52 7.54 7.50 7.52 7.51
IS B U BERa U | B U | BERL | BERL| Byl
= B U B U | B U B2 U | BWa U | Byl
B <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
i) g () | &K <0.5 €0.5 <0.5 <0.5 0.5 0.5
NS €0.5 <0.5 €0.5 €0.5 €0.5 €0.5
541 0. 02 0. 02 0.02 0.03 0.03 0. 02
V& o (E) &K <0. 01 0.01 0.01 <0. 01 0.02 <0. 01
S 0.01 0. 02 0. 02 0. 02 0. 02 0.01
Eﬁ 3=t 0.70 0. 67 0.72 0.70 0.63 0.72
w | B & R g/l | 0.68 0. 62 0. 65 0.64 0. 58 0. 68
B S 0.69 0. 64 0. 68 0. 67 0. 60 0.70
o BT 0.78 0.73 0.78 0.76 0.73 0.77
noEE o7 i F (mg/L) | il 0. 72 0. 66 0.71 0.72 0. 67 0.75
e 1) 0.75 0.70 0.74 0.74 0.70 0.76
lE Om % KMo, W B R ) (mg/L) 1.5 0.9 0.8 1.1 1.3 0.8
54l 19.6 21.3 25.3 30.9 30.8 26.6
K H(C) | &IK 15.9 20. 6 23.0 30.0 30.7 25.0
-85 17.8 21.0 24.2 30. 4 30.8 25.8
BE 31.2 29.5 30.6 31.6 29.7 30. 1
7 Jb v U o (mg/L) | FAK 31.0 25.9 29.7 28.8 29.6 29.7
— S 31.1 27.7 30. 2 30. 2 29.6 29.9
fig E  (mg/L) 1.9 1.5 1.5 1.5 1.3 1.5
fily e fE E % (mg/L) 0.81 0. 66 0.55 0. 34 0.79 0.74
iy fift Jig: A % > (mg/L) 17. 4 16. 7 14. 4 15. 7 23.8 17.2
Hoov ¥ v A fE O (mg/L) 29 25 26 26 28 24
~ J x ¥ v A m E (ng/L) 8 7 7 8 9 7
- B 15.8 14.0 14.2 16.9 18.5 14.5
T = 5 H K (0S/m) | & 15.1 13.4 14.0 13.7 17. 4 14. 4
S 15.4 13.7 14.1 15.3 18.0 14.4
& 17 [i3 #  (mg/L) 10.9 10.0 8.4 7.4 7.0 7.9
H 4=l 0.034|  0.034| 0.035| 0.032| 0.035  0.033
ST S S S ¢ i3 el 0.029|  0.031 0.034|  0.025| 0.034| 0.032
S 0.032|  0.032| 0.034| 0.028| 0.034]  0.032
L H B o~ v F v & (ng/l) 0.049|  0.041 0.056|  0.075|  0.075| 0.067
oot WM o (¥ o ) (mg/L) <0. 001 0.001| <0.001| <0.001| <0.001 <0.001

7 U 7 b AKX U ¥ U A (EH/200) 0 0
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10 11 12 1 2 3 [Fl4K 541 AR S
0 0 0 0 0 0 24 0 0 0
— — — — — — 24 — — —
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.03|  <0.03]  <0.03| <0.03] <0.03] <0.03
<0.03| <0.03| <0.03] <0.03] <0.03] <0.03 24| <0.03|  <0.03|  <0.03
<0.03|  <0.03|  <0.03| <0.03] <0.03] <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| 0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
14.0 17.2 17.1 17.3 18.1 17.5
10.9 15. 8 15.9 16. 8 17.5 11.6 24 18.1 10.1 14.1
12. 4 16.5 16.5 17.0 17.8 14. 6
0.8 1.0 1.0 0.9 0.9 0.9
0.8 0.9 0.9 0.8 .8 0.9 24 1.0 0.7 0.8
0.8 1.0 1.0 0.8 0.8 0.9
7.63 7.58 7.57 7.55 7.58 7.55
7.56 7.53 7.54 7.53 7.58 7.53 24 7.63 7.47 7.54
7. 60 7.56 7.56 7.54 7.58 7.54
B U BERUIBRERU BELRL|BRERL|BRERL 24 L
B U\ B U | e U B U | By U Bl 24 AL
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
<0. 01 0. 02 0. 02 0.01 0.01 0. 02
<0. 01 <0. 01 0. 02 0.01 0.01 0.01 24 0.03|  <0.01 0.01
<0. 01 0.01 0. 02 0.01 0.01 0. 02
0. 67 0.70 0. 68 0.71 0.69 0. 67
0.63 0. 66 0. 66 0.70 0.67 0. 65 24 0.72 0. 58 0.67
0.65 0. 68 0.67 0.70 0. 68 0. 66
0.71 0.76 0.73 0. 80 0.75 0.73
0.70 0.73 0.73 0.76 0.73 0.72 24 0. 80 0. 66 0.73
0. 70 0.74 0.73 0.78 0.74 0.72
1.0 1.2 1.1 1.2 1.3 0.9 24 1.5 0.8 1.1
24. 6 19.9 16. 2 12.2 12.1 13.9
22.7 16. 0 14.1 9.8 10. 4 12.8 24 30.9 9.8 20. 2
23.6 18.0 15. 2 11.0 11.2 13. 4
34.0 35.2 35.0 34. 4 35. 4 34.6
30.8 35.0 34.2 34.2 34.0 27.4 24 35.4 25.9 31.7
32.4 35.1 34.6 34.3 34.7 31.0
1.6 1.3 1.9 1.8 1.9 1.9 12 1.9 1.3 1.6
0. 66 1.19 1.23 1.25 1.13 0.99 12 1.25 0. 34 0. 86
16.0 20.3 21.0 18.7 20. 2 19.0 12 23.8 14. 4 18. 4
26 32 32 31 32 27 12 32 24 28
8 9 9 9 9 8 12 9 7 8
16.9 18.5 18.5 17.9 18.6 18. 4
14.2 18.0 17.7 17.3 17.7 14.7 24 18.6 13.4 16.3
15.6 18.2 18.1 17.6 18.2 16. 6
7.6 9.7 10. 3 12.0 12.5 11.3 12 12.5 7.0 9.6
0.040|  0.037| 0.040| 0.037| 0.035| 0.040
0.030|  0.037|  0.040|  0.030|  0.033]  0.035 24| 0.040| 0.025| 0.034
0.035|  0.037| 0.040| 0.034| 0.034| 0.038
0.056| 0.080| 0.082| 0.065 0.054| 0.066 12|  0.082| 0.041|  0.064
<0. 001 0.001| <0.001 0. 001 0. 001 0. 001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0
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5) BFRIAR L TR RIEIKIEIK (st 11k 5 B O SR S0 40 SRS FTR  AAAke )
PP AR TE R KK (2D 2)

A
i 4 5 6 7 8 9
BRIV AERVCZOEY (mg/l) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
K K O F O b & W (ng/l) <0. 00005 <0. 00005| <0. 00005| <0. 00005| <0. 00005 | <0. 00005
Lk X ZE oA W g/ <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
vt #F &K O 0 b A& W (ng/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
N oMty v A b A& W (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
il fi fe e = F#  (mg/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
T b A A RO Y T v (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
HEEER L OHEMBEZHRE (ng/L) 0.81 0. 66 0.55 0.34 0.79 0.74
7 v #FZ R X ZE DL AW (ng/l) 0.08|  <0.08 0.10 0.10 0. 09 0. 09
U FE R OTZE O AEYW g/l <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
py i) 4 I7% #  (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — Y F % ¥ (mg/l) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
f;;&{zg};j;ﬁ;g%? (mg/L) <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
Y v o m o m A & v (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
|5 F 9 7 B2 F L v (mgl) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
YU oz v owm ox F L v (mg/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
~ N + v (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
e | =S e (mg/L) <0.06|  <0.06| <0.06| <0.06| <0.06|  <0.06
7 = = 3 & (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
7 = = x A A (mg/L) 0.005|  0.007| 0.008| 0.008/ 0.009  0.006
- R 4 = = i B (mg/L) <0. 003 0. 003 0. 003 0. 004 0. 007 0. 005
v 7 e ® 27 88w 2 % > (mgl) 0.004|  0.003|  0.004|  0.004| 0.007|  0.004
B F= Iz (mg/L) <0.001| <0.001| <0.001 0. 001 0.002| <0.001
Wk U oo~ . A % v (mg/L) 0.014|  0.015| 0.018| 0.018  0.026/ 0.016
Hir v 2 v v ® B (g/l) <0.003| <0.003| <0.003| <0.003 0.003| <0.003
7 ' Y 7 o ou A H L (ng/l) 0.005|  0.005| 0.006| 0.006| 0.009  0.006
7 = E A A A (mg/L) <0.001| <0.001| <0.001| <0.001 0.001| <0.001
F v A 7 A F B R (mg/L) <0.008| <0.008| <0.008| <0.008| <0.008| <0.008
o &k O x o it A& B (mg/l) <0.1 <0.1 <0.1 <0.1 <0. 1 <0. 1
TNAVI=U AR OZOEY (mg/l) 0.03 0.03 0. 04 0.05 0. 06 0.03
W Ok T o b A& W (mg/l) 0.1 0.1 <0. 1 <0. 1 <0. 1 <0. 1
F R T AKEREDAEY (ng/L) 13.3 10.0 11.0 10.3 15.9 12.6
ANT YN T 3Ty N GEE)  (ng/L) 37 32 33 34 37 31
#* I 34 = ¥ (mg/L) 88 84 87 79 110 116
k2 4 A v K om & M Al (mg/L) <0. 02 <0. 02 0. 02 <0. 02 <0. 02 <0. 02
v = + = R > (ng/L) <1 <1 <1 <1 <1 <1
2= A VA KRV A4 — b (ng/L) <1 <1 <1 <1 <1 <1
FE A4 A v K owm i M A (mg/L) <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
7 - J — v (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 <0.0005
TryFEUVREROZEOIARLEY (mg/L) <0. 002 <0. 002
7 7 v &k O 0 A& W (mg/l) <0. 0002 <0. 0002
= v XNV kR E DAY (ng/l) <0. 001 <0. 001
Lo- ¥ 7/ v v = X% ¥ (ng/l) <0. 0004 <0. 0004
~ JL - v (mg/L) <0. 04 <0. 04
|7 EANBY C-=FA~F ) (mg/L) <0. 01 <0.01
B i) F# % (mg/L) <0. 06 <0. 06
Eﬁ Ysaa7 ¥ bk=F U (mg/l) <0. 001 <0. 001
;;rl Wk v w3 — A (ng/l) 0.003 <0. 002
= | e % <1 <1
TH (3F [ R s (mg/L) 1.7 1.3 1.3 1.3 1.1 1.3
HlL1,1- U 7 2 2 = % > (ng/l) <0. 03 <0. 03
A F)—-t-7 F )L —F L (MIBE) (mg/L) <0. 002 <0. 002
5 A G B (TON) 1 1 1 1 1 1
z v g U 7 B K -1.4 -1.5 -1.4 -1.3 -1.3 -1.4
e B X & M (CFU/m1) 1 0
Ll — Y27 2o Ly (mgl) <0.01 <0.01
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10 11 12 1 2 3 [EIE:4 53] &K et
<0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0. 00005 <0. 00005| <0. 00005| <0. 00005| <0. 00005 <0. 00005 12] <0. 00005 <0. 00005 <0. 00005
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.005| <0.005| <0.005| <0.005| <0.005 <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0. 66 1.19 1.23 1.25 1.13 0. 99 12 1.25 0.34 0. 86
0. 09 0. 08 0. 09 0. 10 0.10|  <0.08 12 0.10/  <0.08|  <0.08
0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002| <0.0002
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005 12| <0.005| <0.005| <0.005
<0.004| <0.004| <0.004| <0.004| <0.004| <0.004 12| <0.004| <0.004| <0.004
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0.06|  <0.06| <0.06|  <0.06| <0.06|  <0.06 12| <0.06| <0.06/ <0.06
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
0.006|  0.004| 0.003] 0.003] 0.002| 0.003 12| 0.009| 0.002] 0.005
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| 0.007 | <0.003| <0.003
0.004|  0.007| 0.006| 0.004] 0.002|  0.003 12| 0.007|  0.002|  0.004
0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| 0.002| <0.001| <0.001
0.016| 0.019| 0.016/ 0.011] 0.007| 0.010 12| 0.026/ 0.007| 0.016
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| 0.003 | <0.003| <0.003
0.006|  0.006|  0.005 0.004]  0.003|  0.004 12| 0.009| 0.003] 0.005
<0.001|  0.002|  0.002| <0.001| <0.001| <0.001 12| 0.002| <0.001| <0.001
<0.008| <0.008| <0.008| <0.008| <0.008| <0.008 12|  <0.008| <0.008| <0.008
0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
0.03 0.03 0.04 0. 02 0. 02 0. 02 12 0. 06 0. 02 0.03
0.1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
11.5 15.5 16.9 14.7 15.9 12.0 12 16.9 10.0 13.3
34 41 41 40 41 35 12 41 31 36
87 110 102 89 99 93 12 116 79 95
€0.02|  <0.02] <0.02] <0.02|  <0.02]  <0.02 12| <0.02| <0.02|  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005 12| <0.005| <0.005| <0.005
<0. 0005/ <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4[ <0.002| <0.002| <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002| <0.0002
<0. 001 <0. 001 4| <0.001| <0.001| <0.001
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4| <0.04| <0.04|  <0.04
<0. 01 <0. 01 4] <0.01| <0.01] <0.01
<0. 06 <0. 06 4] <0.06| <0.06/  <0.06
<0. 001 <0. 001 4| <0.001| <0.001| <0.001
0. 002 <0. 002 4 0.003| <0.002| <0.002
<1 <1 4 <1 <1 <1
1.4 1.1 1.7 1.6 1.7 1.7 12 1.7 1.1 1.4
<0.03 <0. 03 4| <0.03]  <0.03]  <0.03
<0. 002 <0. 002 4] <0.002| <0.002| <0.002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.3 -1.3 -1.4 -1.4 -1.6 12| -1.3 -1.6 -1.4
28 1 4 28 0 8
<0. 01 <0. 01 4] <0.01 <0. 01 <0. 01
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BPE AR o 7= R A KR K

(D 3) K
A

HE 5 7 10 2 [EE- B HAK RE4)
1,3—y7un7ua~Xy(D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X Z7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
E P N (mg/L) | <0.00005| <0.00005| <0.00005/ <0.00005 4| <0.00005| <0.00005| <0.00005
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T R = 7 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T * 7 Ed — ~ (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <€0.0008| <0.0008| <0.0008
7 k 7 2 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = = UiN Z (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
T N b = X (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T = 7 = — L (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y % ¥ F A v (mg/L)| <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
A4 Y 7 = v A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4Y 7ma )7 (MIPC) (mg/L)| <0.0001 <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV FaF A7 (IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
A4 7ma XK A(IBP) (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 2 J 7 X ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
- X 7 wvu B 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 47 RA (YT =2 ARA, EDDP) (mg/L) [ <0.00006| <0.00006| <0.00006( <0.00006 4| <0.00006| <0.00006| <0.00006
T N7 = v 7 u vy 7 A (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
IR T Y — (=7 r) — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R V) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <€0.0001| <0.0001| <0.0001
A X% ¥ Y 7 o A AR v (mg/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X v 8 (H 8 ) (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
Z+ U ¥ A Kk v B ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
5 z - MiN Z (mg/L) | <0.000006| <0.000006| <0. 000006/ <0. 000006 4| <0. 000006 <0.000006| <0. 000006
B 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 % v > 7 (mg/L)

B N Y g (N A C ) (ng/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
B 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
7 JU IR 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 732 (A CN ) (mg/L)| <€0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
% & 7 v v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
7 N JL = > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 A = K (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o & ¥ X — b (mg/L) <0.0002|  <0.0002| <0.0002|  <0.0002 <0.0002| <0.0002|  <0.0002
7 wm A 7 ua v 7 (mg/L) <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
)= 7= (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 m Jb B U A& A (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
o #Znr=)L (TPN) (mg/lL) <0.0005|  <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v T > Y > (mg/L) | <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Yy ey (DCMU) (mL <0.0002| <0.0002| <0.0002| <0.0002 4 <€0.0002| <0.0002| <0.0002
vZ7u~X=,)(DBN) (mL) <0.0003| <0.0003| <0.0003| <0.0003 4| <€0.0003| <0.0003| <0.0003
Zua LR A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
DA 7 bz 4 F (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZVRR L (= F L FF AR ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
CF A H NN A— R (ng/L)

¥ S * = L (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o ma AR v 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v < v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
DA I S U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
T X k = — I (mg/L) <0.0005| <0.0005| <0.0005 <0.0005 4| <0.0005| <0.0005| <0.0005
v A b ) v (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
X q T > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A N i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
ﬁ‘/ifyh f&A‘(wfﬂb) (ng/L)
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A

HE 5 7 10 2 [EE- B HAK RE4)
i 7 % = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ 74 7 A (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F 4 ¥ B b 7 (mg/L)| <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A 7 7 F — b A F L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
-+ ~N v B v 7 (mg/L) | <0.0002|  <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 U o kU F v (mg/l)

FTINTHNT (MBPMC) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
k ) 7 = B )L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FUZ7wa k> (DEP) (mg/L)| <0.0002] <0.0002] <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
kU Y 7 T — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Uz Z U v (mg/l) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
7+ 7 = /N = R (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 5 o — R~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~2 =] N 2 (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
| =S 7 = = b (mg/L)

v 7 Y X 3 7 = » (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —k (S L —]R) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U ¥ 7 = v F F » (mg/L)| <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
vy 7 F H L 7 (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =] ES =] > (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 7 & = L (mg/L) | <0.000005| <0. 000005 <0.000005| <0. 000005 4| <0. 000005 | <0.000005| <0. 000005
Jrx=taF A+ (MEP) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7)) 77 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
= E ) N ' v (mg/L)

7 v F F 2 (MP P) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z hx —FK(PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b T H I K (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 Va 7 A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 7 o — JL (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 Z g N Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 x ¥ v (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 ) 7 ¥ F A (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 L F 5 Z v — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A o Yy = F > (mg/L) | <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 m  F  F K A (ng/L)

7 v ¥ = F Y — JL (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] =4 A < K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 o N JF Y — L (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 ma ' 7 F F (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J N JL (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~N v 7w v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Y v ¥/ m v (mg/L)| <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N T g A2 U v (mg/l) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
N v 7 Z H b 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Ry (R2aYr) (mg/L) | <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A2 F 7 £ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F A v (~F Y ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AaFuay 7 (MCPP) (mg/L)| <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005| <0.0005
A Y g JL (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A i v X D4 JL (mg/L) <0.0006| <0.0006| <0.0006| <0.0006 4| <€0.0006| <0.0006| <0.0006
AF X F F > (DMTP) (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X A4 A v v (mg/L)| <0.0003] <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A I /2 A b v Vv (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
A ~ ) - D > (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = + ¥ v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
A v o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
ES ) 3 — I (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
J- 3 34K 5 (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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